6.1_1 Maxima and Minima-Completing the Square (Day1) November 29, 2016

Are there any questions from yesterday’s homework practice?
m T (C
. 257 #15
P v /

pp. 258-259 #2b, 3df{5, 7cd, 8abc, 10a, 12, 13ab, 15a, 16a
(HINT In 16a, tAe question is expressed aS a difference of Squares!)

Optional Worksheet: Mixed Factoring #4
p. 203 #7a (MAKE A GRAPH ON GRID PAPER), 8 (JUST SKETCH IN PART a) — NO GRID REQUIRED)
p- 205 #7 (JUST SKETCH IN PART a) — NO GRID)

p. 316 #4c (NO “CHECK”), 5cd,
7cde (GRAPH ON GRID PAPER)
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Today's Learning Goal(s):
By the end of the class, | will be able to:

a) convert a quadratic relation from standard form to vertex form by
"completing the square".
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MPM 2DI 6.1 Maxima and Mimima-Completing the Square vate: AOY, 29 Ué
}f=a(x—h)2+k y=ax2+bx+c yv=alx-r)x-s)
Vertex Form Standard Form Factored Form
| Expand T I | Factor, if possible T
Complete the Square Expand

Find axis of symmetry etc...

What is the vertex of the quadratic relation y = x> —10x+257?

Notice that the relation is a “perfect square trinomial” equivalent to, y = ( x— 5)2 with vertex (T, 0.

Given: y = ax* +bx+c, the relation is a perfect square when ¢ = [% b] i

ie. y=x*-10x+25 or y=x"+14x+49 butnot y =x* —20x+36
1 : 1 2

o) (309) (3)

=(-5) =(7) = (-10)

=25 =49 ~100

# 36
Ex.1 Whatconstant ferm mustbe added to the following expressions to make them perfect squares?

a) v=x +12x b) v=x"-16x ¢) v=x"—30x
ifc=34 ife= ¢ ife= RAY

lA theny=x2+]2:f+3£ then}f=x2—16x+“{ thenyzxz—BO:f')'z‘)\T
()) -(X+6) -(X~9) ~(Y-I5)

\3<
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Recall: When we add “zero” to an equation, we do not change its value.
This idea of adding an equivalent of zero is the principle behind completing the square.

Ex. 2 Find the vertex by completing the square.
a) y=x"—-6x+11 b) y=x"+18x+20 ) y= —3x>+30x+41

Q ol
SX<Gc G- Lt SKOHIXAT-T 400 =352 10x) 4y
— A~ (¢* 109)

=(x-3)+3 =()(+‘ﬂa‘6' :-;w;‘\%l
W(3,2)  nolae _-3( x5 V!
S)HL)

v (

Be ready for the unit summative on Tomorrow!

Today’s practice: Read p.267 Example 2, Method 1: Complete the Square
pp. 270-272 #4c, 5, 6a, 8abce, 17ab, 19
Enrichment: pp. 272-273 #17d, 27
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